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‘Gaurela-Pendra-Marwahi’, is a newly formed

district of which state?

(A) Chhattisgarh

(B) Jharkand

(C) Haryana

(D) Odisha

Which state had announced that the Sanitary
personnel employed by urban and rural civic
bodies shall be called ‘cleanliness workers’?
(A) Kerala

(B) Tamil Nadu

(C) Karnataka

(D) Maharashtra

Headquarters of UNO are situated at
(A) Paris

(B) Geneva

(C) Haque (Netherlands)

(D) New York, USA

For purifying drinking water alum is used
(A) for coagulation of mud particles

(B) to remove gases

(C) to kill bacteria

(D) to remove salts
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(D)
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“PARAKRAM DIWAS” is planned to be (B)
celebrated by Government of India every year on
23rd January in memory of birthday of .................
to inspire people of the country, especially the
youth, to act with fortitude in the face of
adversity, and to infuse in them a spirit of patriotic
fervour.
(A) Nawab Pataudi
(B) Netaji Subhas Chandra Bose
(C) A P J Abdul Kalam
(D) Sardar Vallabhbhai Patel
If in a certain code, SWITCH is written as
TVIJSDG, which word would be written as
CQFZE?
(A) BARED
(B)
(B) BREAD
(C) BRAED
(D) BRADE
One morning Uday and Vishal were talking to
each other face to face at a crossing. If Vishal’s
shadow was exactly to the left of Uday, which
direction was Uday facing?
A) East
(B) South
(C) North

(D) West

Look at this series: (D)
ELFA, GLHA,ILJA,  ,MLNA

What should fill the blank?

(A) OLPA

(B) KLMA
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(C) LLMA

(D) KLLA
How many times are the hands of a clock at right
angle in a day?
(A) 22
31-03-2021 219 (B) 24 ©
(C)44

(D) 48

Ecology : Environment :: Histology : ?
(A) Fossils
31-03-2021 220 (B) History ©
(C) Tissues
(D) Hormones
Replape the following with most appropriate
meaning.
Study of religion

(A) Philology

31-03-2021 221 (B)

(B) Theology
(C) Astrology
(D) Graphology
Choose the word nearest in meaning to bold part.
The inspector was a vigilant young man.
(A) Smart
31-03-2021 222 (B) Watchful (B)

(C) ambitious

(D) intelligent

31-03-2021 223 In question given below, a part of the sentence is (A)
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italicised and underlined. Below are given
alternatives to the underlined part which may
improve the sentence. Choose the correct
alternative. In case no improvement is needed,
option ' No improvement' may be chosen as the
answer.

Had she been hungry, she would have devoured
the whole of it.

(A) No improvement
(B) Unless she had been hungry
(C) However she had been hungry

(D) If she had been hungry

I working all afternoon and have just
finished the assignment.

(A) have been

(B) had been (B)
(C) shall be

(D) am

When writing and formatting a business email,

which of the following is correct?

(A) use the block format

(B) do not indent (D)
(C) use line spaces between paragraphs

(D) All of the options

Replace the following with most appropriate (D)
option.

An expert in writing by hand
(A) Chiropodist
(B) Theologist

(C) Funambulist
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(D) Chirographer

Antonym of

BECKON

(A) wave

(B) ignore

(C) gesture

(D) bid

Which tense is used to express general truths and
facts?

(A) Present continuous tense
(B) Present perfect tense

(C) Past perfect tense

(D) Present indefinite tense

Choose the correct alternative which can be
substituted for the underlined part of the given
sentence:

The workers are hell bent at getting what is
due to them.

(A) hell bent on getting
(B) hell bent for getting
(C) hell bent upon getting

(D) No improvement

In question below, the passage consists of six
sentences. The first and sixth sentences are given
in the begining. The middle sentences in each
have been removed and jumbled up. These are
labelled as P, Q, R and S. Find out the proper
order for the four sentences.

S1: A young man was trapped overnight on the
Himalayas in minus S temperature.

202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU

(B)

(D)

©

©)

5/20



4/1/2021 202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU

P : The patient had been brought back to life and
needed some days in intensive care.

Q : On arrival at the hospital, his body
temperature was 22 degrees Celsius and he
showed no signs of life.

R : After two hours on the machine his body
temperature had risen to normal.

S : The patient was immediately connected to a
heart-lung machine to establish an artificial body
circulation.

S6: He suffered no after-effects and the
resuscitation was a success.

(A) PQRS
(B) RSPQ
(C) QSRP
(D) RQPS
A basket contains Rs 216 in the form of one

rupee, 50 paise and 25 paise coins in the ratio of 3
: 4 : 4. The number of 50 paise coins is ?

(A) 96
111 31-03-2021 231 (©)
(B) 128

(C) 144

(D) 100

Two men start together to walk a certain distance,
one at 4 kmph and another at 3 kmph.The former
arrives half an hour before the latter. Find the
distance.

111 31-03-2021 232 (A) 6 km

(A)
(B) 9 km
(C) 1 km

(D) 4.5 km
111 31-03-2021 233 A teacher has to choose the maximum different ©)
groups of three students from a total of six

students. Of these groups, in how many groups
there will be included one particular student?
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(A)6

(B) 8

(©) 10

(D) 12

Gauri went to the stationers and bought things
worth Rs. 25, out of which 30 paise went on sales
tax on taxable purchases. If the tax rate was 6%,
then what was the cost of the tax free items in
Rupees?

(A) 15

(B) 15.7

(©) 19.7

(D) 20

A fruit seller had some apples. He sells 40%
apples and still has 420 apples. Originally, he had
... apples.

(A) 588

(B) 600

(C) 672

(D) 700

Raman salary was decreased by 50% and
subsequently increased by 50%. He has a loss of
(A) 0%

(B) 25%

(C) 0.25%

(D) 2.50%

There are 600 boys in a hostel. Each plays either
hockey or football or both. If 75% plays hockey

and 45% play football, How many boys plays
both ?
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(A) 40

(B) 60

(C) 80

(D) 120

When n is divided by 4, the remainder is 3. What
is the remainder when 2n is divided by 4 ?

(A)1

(B) 2

©)3

(D)6

12994 + 14.5=172, then 29.94 + 1.45="7?
(A)0.172

(B)17.2

(©)1.72

(D) 172

A group of students decided to collect as many
paise from each member of group as is the
number of members. If the total collection
amounts to Rs. 59.29, the number of the members
in the group is:

(A) 57

(B) 67

(C) 77

(D) 87

The formal manners and rules that are followed in
social and professional settings is defined as

(A) Conduct

(B) Discipline
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(C) Behaviour

(D) Etiquette
Integrated management system of business
processes often in real time and mediated by
software and technology.
(A) Enterprise Resource Planning
111 31-03-2021 242 (A)
(B) Total Quality Management
(C) Enterprise Compliance System
(D) Integrated Maintenance System
Records are identified and arranged in strict date
order and sometimes even according to the time
of the day is
(A) Alpha Numerical Classification
111 31-03-2021 243 (B)
(B) Chronological Classification

(C) Geographical Classification

(D) Subject Wise Classification

The mail protocol that is used to send mails is
(A) Simple Mail Transfer Protocol

111 31-03-2021 244 (B) Post Office Protocol (A)
(C) Internet Message Access Protocol

(D) File Transfer Protocol

A malicious code that is installed in the host
machine pretending to be useful software

(A) Virus

111 31-03-2021 245 (B) Trojan Horse (B)
(C) Worms
(D) Spyware

111 31-03-2021 246 The act of reserving the domain names of ©)
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someone else's trademark with intent to sell it

afterwards to the organisation who is owner of the

trademark at a higher price.

(A) Web Jacking

(B) Spamming

(C) Cyber Squatting

(D) Salami Attack

The statement of financial position of the business

entity on a particular date

(A) Book Keeping

(B) Balance Sheet (B)

(C) Trial Balance

(D) Income Statement

Inventory is a name collectively given to raw

material; work in progress and

(A) Services

(B) Equipments (D)

(C) Resources

(D) Finished Goods

Choose the correct order of Computer System

Storage

(A) KB<MB<GB<TB<PB<EB<ZB<YB

(B) KB<GB<MB<TB<PB<ZB<EB<YB (A)

(C) KB<TB<MB<GB<PB<EB<ZB<YB

(D) KB<MB<GB<TB<PB<EB<YB<ZB

1Ehe Speed of central processing unit is measured (B)
y

(A) Kelvin
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(B) Hertz

(C) Ampere

(D) Watts

The  isavolatile memory.
(A) Random Access Memory

31-03-2021 251 (B) Read Only Memory (A)
(C) Read Access Memory

(D) Random Only Memory

The Process of taking a deep look into an issue
with a program and removing errors that are
found
(A) Decode
31-03-2021 252 ©
(B) Encode
(C) Debug

(D) Bug

JPEG stands for
(A) Joint Photographer Expert Group

31-03-2021 253 (B) Joint Photographic Experts Group (B)
(C) Joint Photographic Entity Group

(D) Joint Photography Entity Group

Which Item is printed at bottom of each page?

(A) Head note

31-03-2021 254 (B) Foot note (B)
(C) End Note
(D) Title

31-03-2021 255 Which key is mapped to right hand thumb? ©)
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(A) Right Shift
(B) Enter Key
(C) Space Bar

(D) None of the options

Pick the odd one from the following
(A) Linux

(B) Ubuntu

(C) Android

(D) Windows

The protocol that allows telephone service, video
conferencing and many other services through

internet is

(A) Internet Message Access Protocol
(B) Post Office Protocol

(C) Voice Over Internet Protocol

(D) Transmission Control Protocol

Ctrl+Y is the short cut key for:
(A) Undo the last action

(B) Paste the selected text

(C) Cut the selected text

(D) Redo the last action

When communicating, a sender

a message and passes the message through a
medium or channel

(A) Feeds back
(B) Decodes

(C) Transfers
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(D) Encodes

channels are established by the
organisation and transmit messages that are
related to the professional activities of members.
(A) Professional
(B) Informal
(C) Formal

(D) Member

Our address and phone number are shown on our
(A) Letterhead

(B) Snailmail

(C) Postage

(D) Salutation

The CEO of your company just sent mail to all
employees. You want to reply him/her and say
"Thanks!". Which button should you click?
(A) Reply

(B) Reply All

(C) Reply with meeting

(D) Forward

Which type of threat cannot replicate itself within
a system, but can transmit its copies by means of
e-mail?

(A) Malware

(B) Virus

(C) Worm

(D) Trojan horse

Which of the following is not a physical system of

202.191.132.32/postExam/qp_check_dashboard.php?exam=Y29jaGlubWFyY2h0d2VudHIvbmU
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the firm?

(A) Money
(B) Data

(C) Personnel

(D) Machines

The standard bit mapped image format for
Windows that can require large amounts of
storage is:

(A) WMF

(B) BMP

(C) JIPG

(D) GIF

Which type of software manages the computer's
processes, functioning as an interface,connecting
the user , the application software, and the
hardware?

(A) System Software

(B) Operating system

(C) Utility program

(D) Translator program

Which of the following is not a type of margin?
(A) left

(B) Right

(C) Center

(D) Top

Which is true when you insert an excel worksheet
into a word document?

(A) Word is the destination document
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(B) Excel is the destination document
(C) The Worksheet is the destination document

(D) The document is the source document

The word limited should appear after the name of
(A) Partnership

31-03-2021 269 (B) Registered company (B)
(C) Statutory company

(D) Chartered company

What does COUNT() function do in Excel data
range

(A) Count Spaces
31-03-2021 270 (B) Count brackets ©
(C) Count blank

(D) Count characters

ERPis a
(A) Process

31-03-2021 271 (B) Hardware ©)
(C) Software

(D) Plan

Cut, copy and paste are features of
(A) clipboard

31-03-2021 272 (B) desktop (A)
(C) tray

(D) taskbar

31-03-2021 273 Computer Monitor is also known as ©)

(A) DVU
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(B) UVD
(C) VDU

(D) CCTV

The printed output from a computer is called
(A) carbon copy

(B) soft copy

(C) hard copy

(D) printed paper

........... is used for connecting two or more
personal computer through a communication

medium such as twisted pair,coaxial cable etc..

(A) MAN
(B) WAN
(C) LAN

(D) PAN

Man-in-the-middle attack is a type of
(A) Cyber attack

(B) Cyber security

(C) Anti virus

(D) None of the options

What is not a characterstic of business
environment

(A) Complex
(B) Static
(C) Multi-faced

(D) Far reaching
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Internal environment includes--------
(A) Customer

(B) Economic

(C) Demographic

(D) Mission and objectives

(A) Profit
(B) Capital
(C) Growth of Profit

(D) None of the options

Which of following is not a ERP software
(A) Microsoft office suite

(B) Tally 9

(C) Oracle E-business suite

(D) SAP Business suite

Which of the following Accounts generally shows
a credit balance?

(A) Wages Account
(B) Trade receiveables Account
(C) Bills Payables Account

(D) Loss of goods on fire

A symptom of the fear of failure, which leads an
individual to continually put off completing a task
is known as

(A) insubordination

(B) procrastination
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(C) professionalism

(D) tolerance

The supply of goods means .............

(A) Quantity offered for sale at a given price and

time
(B) Quantity produced by the manufacturer (A)
(C) Quantity available with the supplier
(D) Consumers disposable income
GDP is defined as
(A) The market value of all goods and services
produced in the domestic economy during the
year
(B) The current value of all the capital goods
- (A)
produced in the country
(C) Sum of goods and services exported during
the year
(D) All the capital goods and consumable goods
produced and sold during the year
The operating system creates from the
physical Computer
(A) Virtual space
(B) Virtual computer (B)
(C) Virtual Device
(D) None of the options
Which of the following is not a feature of (A)
effective workplace writing skill?
(A) Dramatic
(B) Purposeful
(C) Audience Centered
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(D) Concise

tags, when placed on an animal,
can be used to record and track in a database all of
the animals movements

(A) POS
(B) RFID
(C) PPS

(D) GPS

How does a commercial bank create money?
(A) By printing money

(B) By lending a part of its deposits

(C) By issuing ATM cards

(D) Accepting deposits

USB stands for

(A) Universal Serial Bus
(B) Uniform Serious Bus
(C) Universal Serious Bus

(D) Uniform Serial Bus

Choose the systematic process of record
maintaining in order if

a= Creation of Records

b = Use of Records

¢ = Storage of Records

d = Disposal of Records

(A) abed

(B) beda

(C) bdac

(D) adcb
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